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CLASS : 12th (Sr. Secondary)          Code No. 3629 
Series : SS-M/2018 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ]              [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : A 
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 ( 2 )          3629/(Set : A) 

3629/(Set : A) 

Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; flkekU; flkekU; flkekU; funsZ'k %unsZ'k %unsZ'k %unsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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 ( 3 )          3629/(Set : A) 

3629/(Set : A)          P. T. O. 

 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) fofy;Elu la'ys"k.k fuEu esa fdldks cukus dh fof/k gS \ 1 

  (A) ,sYdksgkWy (B) ,sehu 

  (C) dhVksu (D) bZFkj 

  Williamson Synthesis is used to prepare : 

  (A) Alcohol (B) Amine 

  (C) Ketone (D) Ether 

 

 (ii)                ;kSfxd dk IUPAC uke fyf[k,A 1 

  

  Write the IUPAC name of this compound. 

 

 (iii) [ ]IClBrNHCr 33 )(  milgla;kstd ;kSfxd dk IUPAC uke fyf[k,A  

 1 

O 

CH3 

O 

CH3 
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 ( 4 )          3629/(Set : A) 

3629/(Set : A) 

  Write IUPAC name of coordinate compound  [ ]IClBrNHCr 33 )(   

 (iv) mRizsjd vfHkfØ;k ds osx dks c<+krk gS] rks osx fLFkjkad ds eku ij D;k izHkko gksxk \
   1 

  (A) c<s+xk (B) ?kVsxk  

  (C) fLFkj jgsxk (D) buesa ls dksbZ ugha 

  A catalyst increases the rate of reaction, then what will be the 

effect on rate    constant ? 

  (A) Increases (B) Decreases  

  (C) Not Changed (D) None of these 

 (v) fuEu esa ls dhysV (Chelate) fyxUM gS % 1 

  (A) −OH  (B) 2222 NHCHNCHH  

  (C) −Cl  (D) −CN  

  In the following chelating ligand is  

  (A) −OH  (B) 2222 NHCHNCHH  

  (C) −Cl  (D) −CN  

 

 (vi)         BAHI
K

+ →+
373

 vfHkfØ;k esa A o B gS % 1 

  (A) OHCHIHC 356 ,  

  (B) ICHOHHC 356 ,  

  (C) ICHOHCHC 3256 ,Η  

OCH3 
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 ( 5 )          3629/(Set : A) 

3629/(Set : A)          P. T. O. 

  (D) OHHCICHCH 5623 ,  

  In the Reaction          BAHI
K

+ →+
373

  A and B are : 

  (A) OHCHIHC 356 ,  

  (B) ICHOHHC 356 ,  

  (C) ICHOHCHC 3256 ,Η  

  (D) OHHCICHCH 5623 ,  

 (vii) osx fLFkjkad eksy yhVj–1 lsd.M–1 fuEu dksfV dh vfHkfØ;k ds fy, gksxk % 1 

  (A) 'kwU; (B) izFke 

  (C) f}rh; (D) dksbZ Hkh ugha 

  If rate constant for a Reaction is mole litre–1 second–1 then order of 

reaction is : 

  (A) Zero order (B) First order 

  (C) Second order (D) None of these 

 (viii) fuEufyf[kr ;kSfxdksa esa lcls de DoFkukad fdldk gS \ 1 

  (A) SeH2  (B) TeH2  

  (C) OH2  (D) SH2  

  In the following compounds which has minimum boiling point ? 

  (A) SeH2  (B) TeH2  

  (C) OH2  (D) SH2  

OCH3 
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 ( 6 )          3629/(Set : A) 

3629/(Set : A) 

 (ix) fuEu esa ls lcls de vEyh; gksxk % 1 

  (A) OHCH3  (B) CHOHCH 23 )(  

  (C) OHCHCH 23  (D) COHCH 33 )(  

  Which is weakest acid in the following ?   

  (A) OHCH3  (B) CHOHCH 23 )(  

  (C) OHCHCH 23  (D) COHCH 33 )(  

 

 (x) ;kSfxd [ ]3423 )( OCCrK  esa milgla;kstu la[;k D;k gksxh \   1 

  (A) 3 (B) 6 
  (C) 4 (D) 2 
  What  is the coordination number in the [ ]3423 )( OCCrK  coordinate 

compound : 

  (A) 3 (B) 6 
  (C) 4 (D) 2 

 (xi) AA
K

SOHconc
OHCHCH ′′→ ,

413

. 42
23  gksxk % 1 

  (A) 22 CHCH =  (B) 352 OCHHC  

  (C) OHC 252 )(  (D) 3223 CHCHCHCH  

  AA
K

SOHconc
OHCHCH ′′→ ,

413

. 42
23  will be : 

  (A) 22 CHCH =  (B) 352 OCHHC  

  (C) OHC 252 )(  (D) 3223 CHCHCHCH  
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 ( 7 )          3629/(Set : A) 

3629/(Set : A)          P. T. O. 

 (xii) fuEufyf[kr ;kSfxdksa esa dkSu 2SN  fØ;kfof/k vf/kdre rhozrk ls djsxk \  

 1 

  (A) BrCH3  (B) ClCH3  

  (C) ClCHCH 23  (D) CHClCH 23 )(  

 

  
2SN reaction will be fastest in : 

  (A) BrCH3  (B) ClCH3  

  (C) ClCHCH 23  (D) CHClCH 23 )(  

  2. rkilq?kV~; o rkin`<+ cgqydksa esa foHksn dhft,A 2 

 Write difference between Thermoplastic and Thermosetting polymers. 

  3. gsujh fu;e ds nksnksnksnks mi;ksx fyf[k,A 2 

 Give two applications of Henry's Law. 

  4. 'kkVdh nks"k dks mnkgj.k lfgr le>kb;sA 2 

 Explain Schottky defect with an example. 

  5. ;fn 4.0  xzke NaOH, 500 feyh foy;u esa ?kqyk gks] rks foy;u dh eksyjrk Kkr dhft,A

 2 

 4.0 gm of NaOH, dissolved in 500 ml of solution, calculate molarity of 

the solution. 
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  6. 0.05 M NaOH foy;u dk izfrjks/k 31.6 Ω gSA bldk lsy fLFkjkad 0.357 cm–1 gSA 

bldh pkydrk o eksyj pkydrk Kkr djsaA  2 

 The resistances of 0.05  M NaOH solution is  31.6 Ω and its cell 

constant is 0.357 cm–1. Calculate its conductivity and molar 

conductivity. 

 7. iz'kkard vkS"k/k fdls dgrs gSa \ mi;ksx fyf[k,A 2 

 What is Tranquilizer ? Give use. 

  8. QSjkMs ds oS|qr vi?kVu ds f}rh; fu;e dks le>kb,A  2 

 Discuss Second Law of Faradey Law of electrolysis.  

  9. Nn~e ,dk.kqd vfHkfØ;k dks mnkgj.k lfgr ifjHkk"kk djsaA 2 

 Define Pseudounimolecular reaction with an example. 

10. fuEu inksa dks ifjHkkf"kr dhft, % 2 

 (i) F-dsUnz 
 (ii) ,dd dksf"Bdk  
 Define the following terms : 

 (i) F-centre 

 (ii) Unit Cell 

11. /kkrqvksa ds 'kks/ku ds fy, eaMy ifj"dj.k fof/k dh O;k[;k dhft,A 3 

 Explain Zone refining method for refining of metals.  
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12. fuEufyf[kr vfHkfØ;k,¡ fyf[k, % 3 

 (a) LokVZ~t vfHkfØ;k 

 (b) lSSUMes;j vfHkfØ;k 

 (c) oqVZ~t-fQfVax vfHkfØ;k  

 Write the following reactions :  

 (a) Swarts reaction 

 (b) Sandmeyer reaction 

 (c) Wurtz-fitting reaction  

13. lekaxh mRizsj.k o fo"kekaxh mRizsj.k ls vki D;k le>rs gSa \ 3 

 What do you understand by homogeneous catalysis and heterogeneous 

catalysis.  

14. fuEufyf[kr inksa dks ifjHkkf"kr dhft, %  3 

 (a) ,suksej  

 (b) isIVkbM cU/k  

 (c) foÑrhdj.k 
 Define the following terms :  

 (a) Anomer   

 (b) Peptide Bond   

 (c) Reducing sugar 

15. fuEu dks iwjk dhft, % 3 

CH3 

NH2 
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               ??
278273

/

23

22

POH

OH

K

HClNaNO
→

−
  ?

4
→

−OH

KMnO
 

 Complete the following :  

    ??
278273

/

23

22

POH

OH

K

HClNaNO
→

−
  ?

4
→

−OH

KMnO
 

 

16. dkUVsDV fof/k }kjk 42SOH  cukus dh fof/k dk o.kZu dhft,A bldh lajpuk Hkh fyf[k,A 5

   

 Explain contact process for manufacturing sulphuric acid. Draw its 

structures.  

 

vFkokvFkokvFkokvFkok    

OR 

 (a) 33POH  o 43POH  v.kqvksa dh lajpuk,¡] {kkjdrk fyf[k,A   3 

 (b) ukbVªkstu ds vlkekU; xq.kksa dh O;k[;k dhft,A 2 

 (a) Draw structures of 33POH  and 43POH  Molecules. Also give their 

basicity.   

 (b) Discuss Abnormals behaviour of Nitrogen.   

 

CH3 

NH2 
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 ( 11 )          3629/(Set : A) 

3629/(Set : A)          P. T. O. 

17. laØe.k /kkrq,¡ ds lanHkZ esa fuEufyf[kr dks Li"V dhft,A 5 

 (i) vkWDlhdj.k voLFkk,¡ 

 (ii) mRizsjdh; xq.k 

 Explain the following with reference to Transition metals : 

 (i) Oxidation states 

 (ii) Catalytic properties   

 

vFkokvFkokvFkokvFkok    

OR 

 (a) vEyh; 4KMnO  fuEu ls vfHkfØ;k djus ij D;k    gksxk \   3 

  (i) SH2  

  (ii) KI  

  (iii) 4FeSO  

 (b) Zn, Cd o Hg dks laØe.k /kkrq,¡ ugha ekuk tkrk gSA dkj.k fyf[k,A  
 2 

 (a) What happens when acidified 4KMnO  react with : 

  (i) SH2  

  (ii) KI  
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  (iii) 4FeSO  

 (b) Zn, Cd and Hg metals are not considered as transition metals. 
Give reason.  

18. (a) QhukWy o csUtksbd vEy esa foHksn djus ds fy, jklk;fud ijh{k.k nhft,A 2 

 (b) csUthu dks fuEufyf[kr esa ifjofrZr dhft, % 3 

  (i) ,slhVksQhuksu  

  (ii) cSUtsfYMgkbM 

  (iii) csUtksQhuku 

 (a) Give a chemical test to distinguish between Phenol and Benzoic 

acid.  

 (b) Convert Benzene into : 

  (i) Acetophenone  

  (ii) Benzaldehyde  

  (iii) Benzophenone  
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3629/(Set : A)          P. T. O. 

vFkokvFkokvFkokvFkok    

OR 

 fuEufyf[kr ij laf{kIr uksV fyf[k, %  5 

 (i) gsyQksykMZ tsfyaLdh vfHkfØ;k  

 (ii) ,sYMksy la?kuu 

 Write short notes on the following :  

 (i) Hell-Volhard-Zelinsky Reaction  

 (ii) Aldol Condensation  

 

   

SSSS  
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CLASS : 12th (Sr. Secondary)          Code No. 3629 
Series : SS-M/2018 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates)  

Time allowed : 3 hours ]              [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : B 
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 ( 2 )          3629/(Set : B) 

3629/(Set : B) 

Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; lkekU; lkekU; lkekU; funsZ'k %funsZ'k %funsZ'k %funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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3629/(Set : B)          P. T. O. 

 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) dkSu lk foVkfeu ty esa foys; gS \ 1 

  (A) foVkfeu D (B) foVkfeu K 

  (C) foVkfeu E (D) foVkfeu B 

  Which Vitamin is soluble in water ?  

  (A) Vitamin D  (B) Vitamin K 

  (C) Vitamin E (D) Vitamin B 

 (ii) ,d eksy −

4MnO  dks +2Mn  esa vipf;r djus ds fy, fdrus QSjkMs (F) dh 

vko';drk gksxh \ 1 

  (A) 5F (B) 2F  

  (C) 1F  (D) 7F 

  Number of Faradays (F) required to reduce 1 mole of  
−

4MnO  into 

+2Mn .  
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  (A) 5F (B) 2F  

  (C) 1F  (D) 7F 

 (iii) fuEufyf[kr osx fLFkjkad ls vfHkfØ;k dh dksfV Kkr dhft,A 
114106.2 −−−

×= SMolLK % 1 

  (A) izFke (B) 'kwU; 

  (C) f}rh; (D) dksbZ Hkh ugha 

  Identify the order of Reaction from                     the given rate 

constant 4106.2 −
×=K  11 −− SMolL  :  

  (A) First (B) Zero 

  (C) Second  (D) None of these 

 (iv) eksyj pkydrk dh bdkbZ gS %  1 

  (A) 121 −− molmohm  

  (B) 12 −molmohm   

  (C) molmohm 21−  

  (D) 122 −− molmohm  
  The units of molor conductivity are :  

  (A) 121 −− molmohm  

  (B) 12 −molmohm   

  (C) molmohm 21−  
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  (D) 122 −− molmohm  

 (v) fuEufyf[kr esa ls f}{kkjdh; vEy dkSu-lk gS \ 1 

  (A) 43POH  (B) 33POH  

  (C) 23POH  (D) 4HClO  

  In the following which is dibasic acid ? 

  (A) 43POH  (B) 33POH  

  (C) 23POH  (D) 4HClO  

 (vi) fuEufyf[kr esa izcyre vEy dkSu gS \ 1 

  (A) COOHCHCH 23  (B) COOHCH3  

  (C) COOHHC 56  (D) COOHCHHC 256  

  In the following strongest acid is :  

  (A) COOHCHCH 23  (B) COOHCH3  

  (C) COOHHC 56  (D) COOHCHHC 256  

 (vii) ( ) 3223 NCHCHCH  ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of the compound ( ) 3223 NCHCHCH .  

 (viii) fuEu ,sfYdy gSykbMksa esa lcls de DoFkukad fdldk    gksxk \   1 

  (A) FHC 52  (B) IHC 52  

  (C) ClHC 52  (D) BrHC 52  

  In the given Alkyl halides which one has minimum boiling point ? 
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  (A) FHC 52  (B) IHC 52  

  (C) ClHC 52  (D) BrHC 52  

 (ix) fuEufyf[kr dks {kkjdh; izkcY; ds c<+rs Øe esa fyf[k, % 1 

  NHHCNHHCNHHC 252256252 )(,,  vkSj 2256 NHCHHC  

  Write the increasing of strongest basicity of the following : 

  NHHCNHHCNHHC 252256252 )(,,  and 2256 NHCHHC  

 (x)  →≡
NiH

NCCH
/2

3  P, P D;k gS \ 1 

  (A) NCCHCH 23  (B) 223 NHCHCH  

  (C) 33NHCHCH  (D) 23NHCH  

    →≡
NiH

NCCH
/2

3  P, P will be ? 

  (A) NCCHCH 23  (B) 223 NHCHCH  

  (C) 33NHCHCH  (D) 23NHCH  

 (xi) fuEu esa ls dkSu-lk {kkjd RNA esa gS vkSj DNA esa ugha \   

 1 

  (A) ;wjsfly (B) lkbVkslhu 

  (C) Xokuhu (D) Fkk;ehu 

  Which base is present in RNA but not in DNA ? 

  (A) Uracil  (B) Cytosine  

  (C) Guanine  (D) Thymine  
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 (xii) jDr ds FkDds teus ds fy, dkSu lk foVkfeu gksrk gS \ 1 

  (A) foVkfeu 1B  (B) foVkfeu D 

  (C) foVkfeu K (D) foVkfeu C 

  The Vitamin responsible for the coagulation of blood is : 

  (A) Vitamin 1B  (B) Vitamin D 

  (C) Vitamin K (D) Vitamin C 

  2. czkWM LisDVªe izfrthok.kq vkS"k/k D;k gSa \ bldk ,d,d,d,d mnkgj.k dhft,A 2 

 What are broad spectrum drugs ? Give one example.  

  3. n -izdkj vkSj p - izdkj ds v/kZpkydksa ds vuqiz;ksx fyf[k,A 2 

 Give applications of n-type and p-type semiconductors.   

  4. fuEufyf[kr dh ifjHkk"kk nhft, % 

 (a) gsujh fu;e 

 (b) jkmYV fu;e   2 

 Define the following :  

 (a) Henry's Law 

 (b) Raoult's law 

 

  5. izfrpqcdRo o yksgpqEcdRo inkFkksZ dks ifjHkkf"kr dhft,A 2 

 Define Diamagnetic and Ferromagnetic substance.  
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  6. la{kkj.k fdls dgrs gSa \ bldh jksdFkke ds fy, nksnksnksnks mik; fyf[k, A 2 

 What is Corrosion ? Give two methods to prevent if. 

 7. C;wuk-N o C;quk-S ds ,dydksa ds e/; vUrj fyf[k,A  2 

 Differentiate between the monomers of        Buna-N and Buna-S.   

  8. QhukWy] ,sFksuky ls vf/kd vEyh; gS] le>kb,A 2 

 Phenol is more acidic than Ethanol, explain.  

  9. ;fn 5.6 xzke KOH, 500 feyh0 foy;u esa ?kqyk gks] rks foy;u dh eksyjrk Kkr dhft,A
 2 

 If 5.6 gm of KOH dissolved in 500 ml of solution, then what will the 

molarity of the solution.  

10. fuEufyf[kr dk :ikarj dSls djsaxs \ 2 

 (i) izksihu → izksisu – 2 – vkWy 
 (ii) csfUty DyksjkbM → csfUty ,sYdksgkWy 
 How would you convert the following :  

 (i) Propene to propan–2 –Ol  

 (ii) Benzyl Chloride to Benzyl alcohol.  

11. fuEufyf[kr milgla;kstu ;kSfxdksa ds IUPAC uke fyf[k, % 3 

 (i) ( )[ ] 453 SOBrNHCo  

 (ii) ( )[ ]63 CNFeK  

 (iii) ( )[ ]
3423 OCCrK  
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 Write IUPAC names of following coordinate compounds :  

 (i) ( )[ ] 453 SOBrNHCo  

 (ii) ( )[ ]63 CNFeK  

 (iii) ( )[ ]
3423 OCCrK  

12. v;Ldksa ds lkanz.k ds fy, Qsu Iyou fo/kh dh foospuk dhft,A 3 

 Discuss froth floatation process for the concentration of ores.   

13. fuEufyf[kr ds lkFk QhukWy dh vfHkfØ;k ds fy, lehdj.k fyf[k, % 3 

 (i) 2Br  ty 

 (ii) NaOHCHCl +3  

 (iii) +722 OCrNa lkUnz 42SOH  

 Write the Equations for the reaction of phenol with the following :  

 (i) 2Br  Water  

 (ii) NaOHCHCl +3  

 (iii) 42722 . SOHConcOCrNa +  

14. fuEu inksa dks ifjHkkf"kr dhft, % 3 
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 (i) vfHkfØ;k dh v/kkZ;q 

 (ii) la?kuu vko`fÙk 

 (iii) lfØ;.k ÅtkZ    

 Define the following terms : 

 (i) Half life period of reaction  

 (ii) Condensation frequency  

 (iii) Activation energy   

15. czkmuh xfr dh foospuk dhft,A 3 

 Discuss the Brownian movement. 

16. fuEu dk o.kZu dhft, % 2
2

1  × 2 = 5  

 (i) LVhQsu vfHkfØ;k  

 (ii) jkstsueqaM vip;u  

 Describe the following :  

 (i) Stephen reaction  

 (ii) Rosenmund reduction  

vFkokvFkokvFkokvFkok    
OR 

 csUthu dks fuEufyf[kr esa ifjofrZr dhft, % 1 + 2 + 2 = 5 

 (i) cSUtSfYMgkbM  
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 (ii) Qsfuy,slhfVd vEy 

 (iii)  esfFky csUtks,V 

 Convert benzene into :  

 (i) Benzaldehyde  

 (ii) Phenyl acetic acid  

 (iii) Methyl benzoate  

17. (a) fuEu v.kqvksa dh lajpuk,¡ jsf[kr dhft, % 2 + 2 + 1 = 5  

  (i) 2XeF    

  (ii) 3BrF   

 (b) 'osr QkLQksjl vkSj yky QkLQksjl dh lajpuk dk vUrj fyf[k,A 

 (c) TeHSHOH 222 ,,  o ScH2  dks c<+rh gqbZ vEyrk vuqlkj O;ofLFkr dhft,A  

 (a) Draw the structures of the following :  

  (i) 2XeF  

  (ii) 3BrF  

 (b) Write the structural difference between white phosphorus and red 
phosphorus.  

 (c) TeHSHOH 222 ,,  and ScH2  Arrange these in increasing their 
acidic character.  

vFkokvFkokvFkokvFkok    
OR 

 fuEu ds vk/kkj ewy dkj.k fyf[k, %  2 + 2 + 1 
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 (i) 3PH  dh vis{kk 3NH  vf/kd izcy {kkj gSA 

 (ii) 2F dh  cU/k fo;kstu ÅtkZ 2Cl dh cU/k fo;kstu ÅtkZ ls de gksrh gSA 

 (iii) 333 ,, PHNHAsH  o 3BiH  dks c<+rs gq, DoFkukad ds vuqlkj O;ofLFkr dhft,A 

 Account for the following : 

 (i) 3NH  is a stronger base than 3PH . 

 (ii) Bond dissociation energy of 2F  is less than that of 2Cl . 

 (iii) 333 ,, PHNHAsH p and 3BiH  Arrange these in order of increasing 
their boiling points.  

18. ikSVsf'k;e ijesaxusV cukus dk o.kZu dhft,A vEyh; 4KMnO  fuEu ds lkFk fdl izdkj 

vfHkfØ;k djsxk] vk;fud lehdj.k fyf[k,A 5 

 (i) 2SO  

 (ii) vkWDlSfyd vEy 

 (iii) 4FeSO   

 Describe the preparation of potassium permanganate. How does 

acidified 4KMnO  solution react with : 
 (i) 2SO  

 (ii) Oxalic acid 

 (iii) 4FeSO  

 Write ionic equations for these reactions.   

vFkokvFkokvFkokvFkok    
OR 

 (a) bysDVªkWfud foU;kl fyf[k, %  3 

  (i) +2Fe  
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  (ii) Cr  

  (iii) +2Mn  

 (b) laØe.k /kkrq vrajkdk'kh ;kSfxd D;ksa cukrs gSa \ 2 

 (a) Write Electronic configurations of :  

  (i) +2Fe  

  (ii) Cr  

  (iii) +2Mn  

 (b) Why transition metals form interstitial compounds ? 

   

SSSS  
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jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ]             [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : C 
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Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; fulkekU; fulkekU; fulkekU; funsZ'k %nsZ'k %nsZ'k %nsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) 322 23 NHHN →+  vfHkfØ;k dk osx 3NH ds lUnHkZ esa D;k gksxk \ 1 

  (A) 
dt

NHd ][ 3−  (B) 
dt

NHd 2
3 ][

−  

  (C) 
dt

NHd ][

2

1 3+  (D) 
dt

NHd ][

2

1 3−  

  For a Reaction 322 23 NHHN →+   the rate of reaction with respect 

to  3NH  will be ? 

  (A) 
dt

NHd ][ 3−  (B) 
dt

NHd 2
3 ][

−  

  (C) 
dt

NHd ][

2

1 3+  (D) 
dt

NHd ][

2

1 3−  

 (ii) izFke dksfV dh vfHkfØ;k dk v)Zvk;qdky 100 lsd.M gSA bldk osx fLFkjkad gksxk %
  1 

  (A) 6.93 × 10–3 lsd.M 
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  (B) 6.93 × 10–2 lsd.M 

  (C) .693  lsd.M 

  (D) 6.93  lsd.M 

  If Half life period of a first order reaction is 100 Seconds. There 
rate constant will be : 

  (A) 6.93 × 10–3 Second 

  (B) 6.93 × 10–2 Second 

  (C) .693  Second 

  (D) 6.93  Second 

 (iii) Qyd-dsfUnzr ?kuh; ,dd dksf"Bd esas ijek.kqvksa dh la[;k gksrh gS % 1 

  (A) 1 (B) 4 

  (C) 6 (D) 2 

 

  The total number of atoms in a face centered cubic unit cell are : 

  (A) 1 (B) 4 

  (C) 6 (D) 2 

 (iv)  →++
ETHER

356 2
DRY

NOClCHClHC  

 

  ;g vfHkfØ;k gS %   1 

CH3 

+ 2NaCl 
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  (A) LVhQSu (B) lSUMek;j 

  (C) fQfVax (D) oqVZt fQfVax vfHkfØ;k fQfVax 

   →++
ETHER

356 2
DRY

NOClCHClHC  

   

  This reaction is : 

  (A) Staphen (B) Sendmeyer's 

  (C) Fittig (D) Wurtz-Fitting 

 (v) vfØ"Vyh; Bksl gS %   1 

  (A) jcM+ (B) IykfLVd  
  (C) dk¡p (D) lHkh 
  Amorphous solid is : 

  (A) Rubber (B) Plastic 
  (C) Glass (D) All 

 (vi) VsDyku dk ,dyd gS %   1 

  (A) 22 CFCF =  (B) CHCNCH =2  

  (C) 22 CHCH =  (D) 256 CHCHHC =  

  Monomer of Teflon is : 

  (A) 22 CFCF =  (B) CHCNCH =2  

  (C) 22 CHCH =  (D) 256 CHCHHC =  

 (vii) fuEu esa izcy vEyh; crkb, %  1 

  (A) OHCH3  (B) OHCHCH 23  

  (C) CHOHCH 23 )(  (D) COHCH 33 )(  

  In the following which is strongest acid : 

  (A) OHCH3  (B) OHCHCH 23  

CH3 

+ 2NaCl 
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  (C) CHOHCH 23 )(  (D) COHCH 33 )(  

 (viii) fuEu esa rkin`<+ cgqyd gS %  1 

  (A) cSdsykbV  (B) ikWfyFkhu 
  (C) ikWyh,LVj (D) C;wuk–N 
  In the following thermosetting polymer is : 

  (A) Bakelite (B) Polythene 

  (C) Polyester (D) Buna-N 

 (ix) fuEufyf[kr ;kSfxdksa dks muds DoFkukdksa ds c<+rs Øe esa fyf[k, %   1 

  (A) OHHC 94  (B) 104HC  

  (C) 5252 HOCHC  (D) CHOHC 73  

  Arrange the following compounds in order of increasing their 
boiling points : 

  (A) OHHC 94  (B) 104HC  

  (C) 5252 HOCHC  (D) CHOHC 73  

 

 (x) ,sfulksy 







HI ds lkFk 373 K rki ij cukrk gS %   

 1 

  (A) OHCHIHC 356 +   

  (B) ICHOHHC 356 +    

  (C) ICHOHCHHC 3256 +  

  (D) OHHCICHCH 5623 +  

  Anisole 






  with  Hi at 373 K temperature will give % 

  (A) OHCHIHC 356 +   

OCH3 

OCH3 
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  (B) ICHOHHC 356 +    

  (C) ICHOHCHHC 3256 +  

  (D) OHHCICHCH 5623 +  

 (xi) ClCHCHHC 2256  ;kSfxd dk IUPAC uke fyf[k, % 1 

  Write IUPAC  name of the compound ClCHCHHC 2256 . 

 (xii) fuEu esa izcy vipk;d gS %  1 

  (A) 3PH  (B) 3BiH  

  (C) 3SbH  (D) 3AsH  

  In the following strongest reducing agent    is  : 

  (A) 3PH  (B) 3BiH  

  (C) 3SbH  (D) 3AsH  

 

  2. fuEufyf[kr vfHkfØ;k dks iw.kZ dhft, % 2 

              ?
373

? 2/2 → →
K

OHhvCl
 

 Complete the following reaction : 

         ?
373

? 2/2 → →
K

OHhvCl
  

  3. vfHkfØ;k dh v.kqla[;rk o vfHkfØ;k dh dksfV fdls dgrs              gSa \  2 

 What  do you mean by molecularity of a reaction and order of a 

reaction ? 

CH3 

CH3 
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  4. 298 K ij 0.20 M KCl foy;u dh pkydrk 0.02485  ohm–1cm–1 gSA foy;u dh 

eksyj pkydrk Kkr djsaA  2 

 At 298 K the conductivity of 0.20 M KCl solution is 0.02485 ohm–1 cm–

1. Calculate the molar conductivity of the solution.  

  5. Ýs adsy nks"k dks mnkgj.k lfgr le>kb,A 2 

 Explain Frenkel defect with an example. 

  6. ,d foy;u esa OHCH3  dk 30 % nzO;eku  ikuh esa ?kqyk gqvk gks] rks OHCH3  ds eksy 
va'k dh x.kuk dhft,A 2 

 Calculate the mole fraction of OHCH3  in solution containing 30 % by 

mass in water. 

  7. fuEufyf[kr ds lkFk QhukWy dh vfHkfØ;k ds fy, lehdj.k fyf[k, % 2 

 (i)  czksehu )( 2Br  ty  

 (ii) ftad 

 Write the equations for the reaction of Phenol with the following : 

 (i)  Bromine )( 2Br  water  

 (ii) Zinc 

  8. fuEu inksa dks ifjHkkf"kr dhft, % 2 

 (i) eksyyrk 

 (ii) ijklj.k nkc 

 Define the following terms : 

 (i) Molality 

 (ii) Osmotic pressure 
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  9. dksyjkm'k ds fu;e dks ,d mnkgj.k lfgr le>kb,A 2 

 Explain Kohlrausch law with a suitable example. 

10. HkkSfrd vf/k'kks"k.k o jklk;fud vf/k'kks"k.k esa nksnksnksnks-nksnksnksnks foHko nhft,A  2 

 Give two differences between physical adsorption and chemical 

adsorption.  

11. fuEufyf[kr milgla;kstu ;kSfxdksa ds IUPAC uke fyf[k, % 3 

 (a) [ ]222 )( BrNOOHPt  

 (b) [ ]4)(CONi  

 (c) [ ]3423 )( OCAlK  

 Write IUPAC names of the following coordinate compounds : 

 (a) [ ]222 )( BrNOOHPt  

 (b) [ ]4)(CONi  

 (c) [ ]3423 )( OCAlK  

12. izfr vEy vkS"k/k fdls dgrs gSa \ fdUgha nksnksnksnks Js"B izfr vEYkksa dk mnkgj.k nhft,A 3 

 What are antacids ? Give two examples of good antacids. 

13. D;k gksrk gS tc Xywdksl fuEufyf[kr ds lkFk vfHkfØ;k djrk    gS \  3 

 (i) HI,  rki 

 (ii) OHNH2  
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 (iii) 2Br  ty 

 What happens when Glucose reacts with the following : 

 (i) HI, Heat 

 (ii) OHNH2  

 (iii) 2Br  Water 

14. izR;sd ds fy, ,d mnkgj.k nsdj fuEu vfHkfØ;kvksa dk o.kZu dhft, % 3 

 (a) gkWQeku czkseSekbM vfHkfØ;k 

 (b) ;qXeu vfHkfØ;k 

 Giving an example for each describe the following  reactions : 

 (a) Hofmann's Bromamide Reaction  

 (b) A coupling reaction 

15. okWu-vkjdsy-'kks/ku ds fof/k dh O;k[;k dhft,A 3 

 Explain  the Van-Arkel-Method for refining of metals. 

16. fuEu dk o.kZu dhft, %   

 (a) ,sYMksy la?kuu   2
2

1   

 (b) dSfutkjks vfHkfØ;k   2
2

1   

 Describe the following : 

 (a) Aldol condensation 

 (b) Cannizzaro reaction 
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vFkokvFkokvFkokvFkok    

OR 

 (a)        o            vEyksa esa dkSu izcy vEy gS]  

  vkSj D;ksa \   3 

 (b) 33COCHCH  fuEu ls vfHkfØ;k djds D;k cukrk    gS \   

 2 

  (i) OHNH2  

  (ii) HCN  

  (iii) 

OHCH

OHCH

2

2

|  

 

 (a)       and          which acid is strongest acid, 

  and why ? 

 (b) 33COCHCH  on reacting with the following will give what product ? 

Explain. 

  (i) OHNH2  

  (ii) HCN  

COOH 

Cl 

COOH 

NO2 

COOH 

Cl 

COOH 

NO2 
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  (iii) 

OHCH

OHCH

2

2

|  

17. (a) mRÑ"V xSlksa ds rhu egÙoiw.kZ mi;ksx fyf[k,A 3 

 (b) 3XeO  o 2XeF v.kqvksa dh lajpuk,¡ cukb,A 2 

 (a) Write three important uses of Noble gases. 

 (b) Draw structures of  3XeO  and 2XeF  molecules.  

vFkokvFkokvFkokvFkok    

OR 

 (a) bUVjgSykstu ;kSfxd D;k gS \ mnkgj.k nhft,A 3 

 (b) bUVjgSykstu ;kSfxd] gSykstu ls T;knk fØ;k'khy gS]    D;ksa \   
 2 

 (a) What are interhalogen compounds ? Give example. 

 (b) Why are interhalogens compounds more reactive then halogens ? 

18. ySUFksuk;M vkdqapu ls vki D;k le>rs gSa \ blds dkj.k o ifj.kkeksa dk o.kZu dhft,A 5 

 What is Lanthanide contraction ? Explain its reasons and 

consequences. 

vFkokvFkokvFkokvFkok    

OR 
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 (a) fuEufyf[kr jklk;fud vfHkfØ;k lehdj.kksa dks iw.kZ dhft,  %   3 

  (i) →++
++− HFeaqOCr 22

72 )(  

  (ii) →++
+−− HIaqOCr )(2

72  

  (iii) →++
++−

HFeaqMnO 2
4 )(  

 (b) laØe.k /kkrq,¡ o muds ;kSfxd vuqpqacdh; gSA Li"V dhft,A   2 

 (a) Complete the following reactions : 

  (i) →++
++− HFeaqOCr 22

72 )(  

  (ii) →++
+−− HIaqOCr )(2

72  

  (iii) →++
++−

HFeaqMnO 2
4 )(  

 (b) Transition metals and their compounds show paramagnetic 

behaviour. Explain.  

SSSS  
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Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ]             [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : D 
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Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; fulkekU; fulkekU; fulkekU; funsZ'k %nsZ'k %nsZ'k %nsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) izFke dksfV dh vfHkfØ;k dh v)Zvk;q fuHkZj djrh gS % 1 

  (A) vfHkdkjdksa dh lkUnzrk ij  

  (B) mRiknksa dh lkUnzrk ij  

  (C) vfHkfØ;k osx fLFkjkad ij  

  (D) dksbZ Hkh ugha 

  Halflife period of a first order reaction depends upon :  

  (A) Concentration of reactants 

  (B) Concentration of products 

  (C) Rate constant of reaction 

  (D) None of these  

 (ii) fuEu esa ls dkSu-lk lcls izcy vEy gS \ 1 
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  (A) HClO  (B) 3HClO  

  (C) 4HClO  (D) 2HClO  

  In the following strongest acid is :  

  (A) HClO  (B) 3HClO  

  (C) 4HClO  (D) 2HClO  

 (iii) fuEufyf[kr esa ls dkSu jaxhu gS \  1 

  (A) 22ClCu  (B) ( )[ ] +3
62OHSc  

  (C) ( )[ ] +2

62OHZn  (D) ( )[ ] +3

62OHTi  

  Which one is coloured ? 

  (A) 22ClCu  (B) ( )[ ] +3
62OHSc  

  (C) ( )[ ] +2

62OHZn  (D) ( )[ ] +3

62OHTi  

 (iv) leijklkjh foy;uksa esa leku gksrk gS % 1 

  (A) lkanzrk (B) ijklj.k nkc 

  (C) i`"Bh; ruko (D) ';kurk 

  Isotonic solutions are the solutions having same : 

  (A) Concentration  (B) Osmotic pressure 

  (C) Surface tension (D) Viscosity  
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 (v) izFke dksfV dh vfHkfØ;k ds osx fLFkjkad dh bdkbZ gS % 1 

  (A) le; 1−  (B) lkUnzrk 1−  le; 1−  

  (C) lkUnzrk 2 le; 2−  (D) dksbZ Hkh ugha 

  The units of rate constant for first order reaction is :  

  (A) Time 1−   

  (B) Concentration 1−  Time 1−  

  (C) Concentration2 Time–2 
  (D) None of these 

 (vi) 'kq) ty dh eksyyrk gS %   1 

  (A) 20 (B) 18 

  (C) 10 (D) 55.5 

  The molality of pure water is :  

  (A) 20 (B) 18 

  (C) 10 (D) 55.5 

 

 (vii)           

             ;kSfxd dk IUPAC uke fyf[k,A 1 

 

  Write IUPAC name of       Compound.  
 
 
 

Cl 

SO3H 

CHCl2 

Cl 

SO3H 
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 (viii) vfHkfØ;k esa          P
K

OH
→

373
2 , mRikn P gS % 1 

 

  (A)  (B)  

 

  (C)  (D)  

  In the following reaction, product P is                 P
K

OH
→

373
2 :    

 

  (A)  (B)  

  (C)  (D)  

 (ix) ( )[ ] 2243 NOClNHCo  o ( )[ ]ClClNONHCo 243  dkSu- ls leko;oh gS \ 

  1 

  (A) vk;uu (B) c/kuh 

  (C) izdkf'kd (D) T;kfefr 

  Which type of Isomerism present in ( )[ ] 2243 NOClNHCo  and 

( )[ ]ClClNONHCo 243 : 

  (A) Ionic  (B) Linkage 

CH2OH 

CH3 
CHO 

OH 

CHCl2 

CHO 

OH 

CHCl2 
CH2OH 

CH3 

CHCl2 
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  (C) Optical (D) Geometrical  

 (x) vfHkfØ;k dks iwjk dhft, %   1 

   →+ KHIHOCHC 373
5252 2  

  Completes the reaction :  

   →+ KHIHOCHC 373
5252 2  

 

 (xi) fuEufyf[kr ;kSfxdksa dks muds vEy lkeF;Z ds c<+rs Øe esa fyf[k, %  

 1 

  (A) OHCH3  (B) OHHC 52  

  (C) QhukWy (D) p - ukbVªksQhukWy 

  Arrange the following in order of increasing their Acidic strength : 

  (A) OHCH3  (B) OHHC 52  

  (C) Phenol (D) p - Nitrophenol 

 (xii) fuEufyf[kr esa ls fdl ldqay vk;u ds /kkrq dh vkWDlhdj.k voLFkk 'kwU; gS \ 

 1 

  (A) ( )[ ] +3
62OHCr  (B) [ ] −2

4CuCl  

  (C) ( )[ ]5COFe  (D) ( )[ ] −3
6CNFe  

  In the following in which metal of complex ion has zero oxidation 

number ?  
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  (A) ( )[ ] +3
62OHCr  (B) [ ] −2

4CuCl  

  (C) ( )[ ]5COFe  (D) ( )[ ] −3
6CNFe  

  2. izfrtSfod fdls dgrs gSa \    nksnksnksnks mnkgj.k nhft,A 2 

 What is meant by the term antibiotics ? Give two examples.  

   

  3. X vkSj Y feydj cus ;kSfxd ds fØLVy dh ?kuh; lajpuk esa X ?ku ds dksuksa ij o Y lHkh 

Qydksa ds dsUnz ij mifLFkr gSA ;kSfxd dk lw= Kkr dhft,A 2 

 A cubic unit cell made up of X and Y elements. If X present on the 

corners of the cube and Y are present on centers of faces, of cube then 

find formula of the compound.  

  4. v/kZpkyd D;k gksrs gSa \ bUgsa fdl izdkj oxhZÑr fd;k tkrk     gS \  2 

 What are semiconductors ? How are they classified ?  

  5. fuEu inksa dks ifjHkkf"kr dhft, % 2 

 (i) okUV gkWQ xq.kkad  

 (ii) eksyjrk    

 Define the following terms : 

 (i) Van't Hoff factor 

 (ii) Molarity  

  6. lfØ;.k ÅtkZ dk egÙo le>kb,A 2 

www.mseducationtv.com



 ( 9 )          3629/(Set : D) 

3629/(Set : D)          P. T. O. 

 Explain the importance of Activation Energy.  

  7. ukbykWu 6, 6 o ukbykWu - 6 cgqydksa esa foHksn le>kb,A 2 

 Explain the difference between polymer nylon 6,6 and nylon 6. 

  8. b±/ku lsy fdls dgrs gS \ ,d,d,d,d mi;ksx fyf[k,A 2 

 Define fuel cell ? Give one use. 

  9. fuEu lsy dk MFEo  Kkr dhft, %  2 

 AgAgCuCu || 2 ++
 

 ;fn VCuCuEo 34.02 +=+  

 VAgAgEo 80./ −=+  gSA 

 Calculate MFEo  of the following cell :  

 AgAgCuCu || 2 ++
 

 Given is VCuCuEo 34.02 +=+  

 VAgAgEo 80./ −=+  

10. ,FkkWDlh,Fksu ty esa ?kqyu'khy gSA le>kb,A  2 

 How do you account for the miscibility of Ethoxy ethane in water ?  
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11. α -Xywdksl vkSj β -Xywdksl esa fo'ks"kr% D;k varj gS \ Xywdksl dh ik;jSuksl lajpuk ls D;k 

rkRi;Z gS \ 3 

 What is essentially the difference between α - glucose and β -glucose ? 

What is meant by pyronose structure of glucose ? 

12. izfrLFkkiu vfHkfØ;kvksa dh 1N
S  vkSj 2

NS  fØ;kfof/k;ksa ds chp vki dSls varj djsaxsa \ 

izR;sd izdkj dk ,d-,d mnkgj.k nhft,A 3 

 How would you differentiates between 1N
S  and 

2
NS  Mechanisms of 

substitutions reactions ? Give one example of each.  

13. fVUMy izHkko dh foospuk dhft,A 3 

 Discuss the Tyndall effect.  

14. fuEu dks Li"V dhft, % 3 

 (i) ,yqehuk ds oS|qr vi?kVu esa Øk;ksykbV dk dk;Z 

 (ii) fudy /kkrq ds ifj"dj.k esa CO (dkcZu eksuksvkWDlkbM) dk dk;Z 

 Explain the role of :  

 (i) Cryolite in the electrolytic reduction of alumina  

 (ii) Carbon monoxide in the purification of nickel.  

15. fuEufyf[kr vfHkfØ;kvksa ds fy, jklk;fud lehdj.k nsdj fyf[k,A 3 

 (i) xkVjeku vfHkfØ;k 
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 (ii) dkfcZy,sehu vfHkfØ;k 

 (iii) veksuhvi?kVu 

 Give chemical equations for the following reactions : 

 (i) Gatterman Reaction  
 (ii) Carbylamine reaction 

 (iii) Ammonolysis 

16. fuEufyf[kr dh O;k[;k dhft, %  

 (a) 3NH  dh vis{kk 3BiH  ,d izcy vipk;d gSA 3 

 (b) mRÑ"V xSls vf/kdrj vfØ; gSa] D;ksa \  2 

 

 Explain the following : 

 (a) 3BiH  is a stronger reducing agent as compare of 3NH .  

  

 (b) Noble gases are mostly inert, why ?  

vFkokvFkokvFkokvFkok    
OR 

 (a) vkWDlhtu ds vlkekU; xq.kksa dh O;k[;k dhft,A 3 

 (b) 3PH  dh DoFkukad 3NH  ls de gS] Li"V dhft,A 2 

 (a) Explain the Anamalous properties of Oxygen.  

 (b) 3PH  has lower boiling point than 3NH , Explain. 

17. (a) vEyh; 722 OCrK  fuEu ls vfHkfØ;k djsxk rks D;k gksxk \ 3  
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  (i) SH 2    

  (ii) KI   

  (iii) 4FeSO  

 (b) laØe.k /kkrq,¡ varjkdk'kh ;kSfxd cukrh gS] Li"V    dhft,A   2  

 (a) What happens when acidified 722 OCrK is reacted with ? 

  (i) SH 2    

  (ii) KI   

  (iii) 4FeSO  

 (b) Transition Metals are form Interstitial compounds Explain. 

vFkokvFkokvFkokvFkok    

OR 

 d-,oa f-Cykd rÙoksa ds ikikikik¡¡¡¡pppp mi;ksxksa dh foospuk dhft,A 5 

 Discuss five uses of d and f-block elements.  

18. (a) fuEufyf[kr vEyksa dks vEyrk dh rqyuk dhft,A 3 

  (i) COOHCH3  

  (ii) HCOOH  

  (iii) COOHHC 56   

 (b) fuEu vfHkfØ;kvksa ds eq[; mRikn fyf[k, % 2 

  (i)         →
3.

,

AlClAnhyd

HClCO
 

COCl 
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  (ii)          →
− 4

2

BaSOPd

H
 

 (a) Compare the acidic strength of following acids : 

  (i) COOHCH3  

  (ii) HCOOH  

  (iii) COOHHC 56  

 (b) Write the major products in the following reactions :  

  (i)        →
3.

,

AlClAnhyd

HClCO
 

  (ii)         →
− 4

2

BaSOPd

H
 

vFkokvFkokvFkokvFkok    

OR 

 fuEu dk o.kZu dhft, %   1
2

1  + 2 + 1
2

1   

 (i) oksYQ-fd'uj vip;u 
 (ii) Økl ,sYMksy la?kuu 
 (iii) LVhQsu vfHkfØ;k  
 Describe the following :  

 (i) Wolff-Kishner reduction  

 (ii) Cross Aldol condensation  

 (iii) Stephen reaction  

 

SSSS  

COCl 

www.mseducationtv.com


